C e i DIRET5) HIDET Sk (x_const ISR o) <o
¢ modified 2002/2/12 it

parameter(nt1=100,nt2=1000)

real x(nt1;nt2),y(ntl,nt2),z(nt1,nt2),xx(nt1,nt2,4),yy(ntl,nt2,4),
/ zz(nt1,nt2,4),a(nt1,nt2),xn(nt1,nt2),yn(nt1,nt2),zn(ntl,nt2)

OPEN(UNIT=1,FILE="left.in"
OPEN(UNIT=2,FILE='left_element.dat’)
OPEN(UNIT=3,FILE="left_normal.dat’)
OPEN(UNIT=4,FILE="left_node.dat")

write(**) ] * PR 53 DR (cmconst) IAEE R
write(**) i * AB,C.D Ml i
write(*,*)

write(*,*) fag BT

write(*,*)

write(*,*)

write(*,*) NI @)l Al =5
write(*,*) ' -->

write(*,*)" PR3y 4 5
write(*;*) * 17 e D e L
write(*,*) ' N 2 4=ttt
write(*,*) " | 3ttt
write(*,%) ' ) 4 +eeetm et
write(*,*) ' {FJ B oottt
write(*,*)' 55 6 D---+--+-2-+---C'
write(*,*)" %’U‘

write(*,*) ' B¢

write(*,*) ! <=’

write(*,*) " 6

no=4
write(*,*)
write(*,*) " H{BEE P Ela’ﬁr&% no=4



write(*,*)

write(*,*) 'ﬁE?J“ X =const x [/ 45"
read(*,*) xconst

write(*,*)

write(* %) i 1 NI (1) it e
read(*,*) ni

write(*,*)

write(*,*)

write(*,*) 'ﬁl‘ﬁj" NJ (x=caonst) # [F[Jﬁlf@ffﬁgi?
read(*,*) nj

nil=ni-1
njl=nj-1

read(1,*) ya, za
read(1,*) yb, zb
read(1,*) yc, zc
read(1,*) yd, zd

y(1.1)=ya
z(1,1)=za
y(L.nj)=yb
z(1,nj)=zb
y(ni,nj)=yc
z(ni,nj)=zc
y(ni,1)=yd
z(ni,1)=zd

yab=(yb-ya)/nj1
zab=(zb-za)/nj1
ybc=(yc-yb)/nil
zbc=(zc-zb)/nil
ycd=(yd-yc)/njl
zcd=(zd-zc)/nj1
yda=(ya-yd)/nil
zda=(za-zd)/nil

do j=2,nj1



y(Lj)=y(1,1)+yab*(j-1)
z(1,))=z(1,1)+zab*(j-1)
end do

do i=2,nil
y(i:nj)=y(1,nj)+ybc*(i-1)
z(i,nj)=z(1,nj)+zbc*(i-1)
end-do

do j=2,nj1

Jiznj1+2j
y(ni.jj)=y(ni.nj)+ycd*(j-1)
z(ni,jj)=z(ni,nj)+zcd*(j-1)
end do

do i=2,nil

ii=nil+2-i
y(ii,1)=y(ni,1)+yda*(i-1)
z(ii,1)=z(ni,1)+zda*(i-1)
end do

doi=2,nil
do j=2,nj1
yij=(y(i,nj)-y(1,1))/nj1
zij=(z(i,nj)-z(i,1))/nj1
y(i.)=y(i,1)+yij*(-1)
z(i,j)=z(i,1)+zij*(j-1)
end do
end do

do ki=1,nil
do kj=1,nj1

yy (i kj,1)=y(ki+1,kj)
yy(Ki,kj,2)=y(Ki+1,kj+1)

yy(Ki,kj,3)=y(ki kj+1)

yy(kikj,4)=y(ki kj)



2z(Ki Kj,1)=z(ki+1,kj)
2z(Ki Kj,2)=z(Ki+1,kj+1)

2z(Ki Kj,3)=z(Ki,kj+1)

22(Ki kj, )=z (ki kj)

end do
end do

DO Kli=1,NI
DO KJ=1,NJ
x(K1,KJ)=xCONST
END DO

END DO

do ki=1,nil

do kj=1,nj1
doj=14
xx(ki,kj,j)=xconst
end do

end do

end do

do ki=1,ni

do kj=1,nj

write(4,3) x(ki,kj),y(ki,kj),z(ki.kj),no,ki,kj
end-do

end do

do ki=1,nil

do kj=1,nj1

write(2,4)((xx(ki,kj.j),yy(kikj.j).zz(ki,kj,j),no,ki,Kj,j),j=1,4)
end do

end do

CALL normal(Xx,Yy,Zz,XN,YN,ZN,A,NT1,NT2,NI1,NJ1)

do ki=1,nil
do kj=1,nj1



write(3,2) xn(ki,kj),yn(ki,kj),zn(ki,kj),a(ki,kj),no,ki,kj
end do
end do

FORMAT(3F10.4,4i5)

FORMAT(3F10.4,3i5)

FORMAT (4F10.4,3i5)

stop
end

C*************************************************

SUBROUTINE normal(X,Y,Z,XN,YN,ZN,AM,L,NI1,NJ1)
REAL X(M,L,4),Y(M,L,4),Z(M,L,4),XN(M,L), YN(M,L),ZN(M,L),A(M,L)

DO I=1,NI1
DO J=1,NJ1

R1=X(1,j,3)-X(1,J,1)

R2=Y(1,3,3)-Y(1,J,1)

R3=2(1,J,3)-Z(1,J,1)

R4=X(1,3,4)-X(1,3,2)

R5=Y(1,3,4)-Y(1,J,2)

R6=Z(1,J,4)-Z(1,J,2)
R=SQRT((R5*R3-R6*R2)**2+(R6*R1-R4*R3)**2+(R4*R2-R5*R1)**2)

XN(1J)=(R5*R3-R6*R2)/IR
YN(I,))=(R6*R1-R4*R3)/R
ZN(1,J)=(R4*R2-R5*R1)/R

T1=X(1,J,2)-X(1,J,1)
T2=Y(1,3,2)-Y(1,J,1)
T3=2(13,2)-2(1,,1)
T4=X(1,J,4)-X(1,J,1)
T5=Y(1:3,4)-Y(1J,1)
T6=2(1,J,4)-2(1,J,1)

R=.5*SQRT((T2*R3-T3*R2)**2+(T3*R1-T1*R3)**2+(T1*R2-T2*R1)**2)
T=.5*SQRT((R2*T6-R3*T5)**2+(R3*T4-R1*T6)**2+(R1*T5-R2*T4)**2)
A(1,J)=R+T



END DO

END DO

RETURN
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